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APPLICATION OF INTEGRALS

1. The area enclosed between the curves

y® = zandy = |z|is (1) 2/3 (2) 1(3) 1/6 (4) 1/3

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_z4y2yUkYF9SK

2. The area of the plane region bounded by

the curves  +2y> =0 and z + 3y° =1 is

equal to (1) g (2)
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Answer: null
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https://dl.doubtnut.com/l/_z4y2yUkYF9SK
https://dl.doubtnut.com/l/_VAAXgxeZWBzb

| ¥ Watch Video Solution |

3. The area of the region bounded by the
parabola (y2)? = z1 , the tangent to the
parabola at the point (2, 3) and the xaxis is (1)

3(2)6(3)9(4)12

o Watch Video Solution

4. The area of the region enclosed by the

curves y = x,x = e,y = — and the positive
x


https://dl.doubtnut.com/l/_VAAXgxeZWBzb
https://dl.doubtnut.com/l/_A0xEyVUcjTqz
https://dl.doubtnut.com/l/_HH7YbwQtZvWv

1
x-axis is (1) 3 square units (2) 1 square units

5
(3) 3 square units (4) ) square units

° Watch Video Solution

5. The area bounded between the parabolas

r? = 2andm2 = 9y and the straight line

4
y=21is (1) 20\/5(2)—\/_() E (4)
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o Watch Video Solution



https://dl.doubtnut.com/l/_HH7YbwQtZvWv
https://dl.doubtnut.com/l/_DIVJDnhI6z9u

6. The area (in square units) bounded by the
curves y = /x,2y — x + 3 = 0, x-axis, and

lying in the first quadrant is

o Watch Video Solution

7. Statement - | : The value of the integral

m/3 dx 7
/ is equal to — . Statement -
T

/6 14 y/tancz 6
b b
I / f(z)dz = / fla +b—x)dz (1)

Statement - | is True; Statement -ll is true;

Statement-ll is not a correct explanation for


https://dl.doubtnut.com/l/_j3RYK6PPUQ4S
https://dl.doubtnut.com/l/_qyB2C4gr0ZJF

Statement-l (2) Statement -l is True; Statement
-l is False.(3) Statement -l is False; Statement -
Il is True (4) Statement -l is True; Statement -l
is True; Statement-ll is a correct explanation

for Statement-l

° Watch Video Solution



https://dl.doubtnut.com/l/_qyB2C4gr0ZJF

